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Multi-Layer Self-Organizing Model with Linear Polynomial
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Multi-Layer Self-Organizing Model with Linear Polynomial
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Multi-Layer Self-Organizing Model with Linear Polynomial

100

Medium Sample Size - Percent Predicted Points by Bins

I Mean+1.5*Std Dev

Mean-1.5*Std Dev
Mean+5td Dev
Mean-Std Dev

W Mean
X Outliers

VP

i

B POK XK OORK

oo

>200%

7

100-200%

50-100%

20-50%

Error % Bins

&

&

10-20%

Scarce Sample Size - Percent Predicted Points by Bins

0-10%

100
X I Mean+1.5*Std Dev
a0 Mean-1.5"Std Dev
Mean+Std Dev
80 Mean-Std Dev
B Mean
70 X OQutliers
60 4(
50 x
x
) < ;
30 u
]

20

- u
10 m

u
; | :
>200% 100-200% 50-100% 20-50% 10-20% 0-10%
Error % Bins
o< & &

Small Sample Size - Percent Predicted Points by Bins

100
I Mean+1.5*Std Dev
9% X Mean-1.5%5td Dev
Mean+Std Dev
80 § Mean-Std Dev
b W Mean
70 X X Outliers
X
60
50 n
40 g
20 X #
X
n u
10 L - L
L
> 200% 100-200% 50-100% 20-50% 10-20% 0-10%
Error % Bins
-l < & &

Time (seconds)

Time (seconds)

Time (seconds)

Time to Model Problems - Med Data Set - Linear Polynomial

1000000

500000
200000
100000
50000
20000
10000
5000
2000
1000
500
200
100

50

20

i

50 100

150 200 250
Problem Number

& !

300

Time to Model Problems - Scarce Data Set - Quadratic Polynomial

100000

50000
20000
10000
5000
2000
1000
500
200
100

05

L, 188
P |

=l<

*

02

01

0.05

0.02

0.01 * "
0 20 40 60

&

Problem Number

&

80 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380 400

Time to Model Problems - Small Data Set - Quadratic Polynomial

100000

50000
20000
10000
5000
2000
1000
500

*

1B

ki

020 40

60 80 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380 400

&

Problem Number

&
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